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Intro

Today we will Be“H learn 15 97 of 311 noon,
Some of the topics we will learn about include:
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One only receives mp5n» for eating a 770 7127 if he eats the
minimum required amount, usually a 13, the volume of
an olive. The Gemara discusses whether permitted food
can combine with the Mo'X to reach the required
minimum. There are opinions that this is possible
regarding the mo'X for a Nazir to drink wine, the 17o°X to
burn leaven on the naw, and nooa yin YR,
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Through its discussion, the Gemara also references the
following important ideas:

1M
RN?7RTH, an MoK can be nullified 302 77, in the simple D"D nb’:& ’T D
majority of a 2:1 ratio of 1m°n1. The 1327 allow nullification

only in larger proportions, such as the 100:1 ratio for mmn.

or v
After a Xpv immerses in a mp» he has the status of'a %170
. oy until nightfall, and still has some degree of ixmwv.
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gni:?s lji:big for eating a Wox 727 even if he doesn't eat it D7R b: bXN

all at once, as long as the entire n’15> was consumed within
the time it takes to eat a ©19, half of a standard loaf of
wheat-bread.
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Regarding Halachah we define normal behavior by what
the majority of people do. The behavior of an individual
who acts differently is considered an aberration and one is
not 271 for an abnormal act.
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So let's review...

The Mishnah on 775 97 cited the opinion of X2'pY '3
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If a Nazir eats bread soaked in wine, the bread contributes
towards the 1, the minimum volume required for arn
mpbn.

The Gemara now elaborates on this Halachah.
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Ordinarily, to be mpbn 27n for a transgression, one must
eat a full n°1> consisting of the "or alone. However, if a
Nazir eats a 1> of bread soaked in wine, even though
there is less than a n’1> of wine in the bread, he is liable for
his transgression. This is because, in reference to a Nazir,
the Torah writes;
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One may not drink wine that was absorbed into something
else.

Obviously, as mooin explains;
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One is liable for drinking the 1w of wine regardless of
whether he drinks it alone or soaked in bread; clearly the
Torah’s intention is to teach
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The permitted bread is combined with the forbidden wine
to achieve the minimum required volume.

Similarly,
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One also transgresses the Wo'X to burn y»n on the nam in
the same manner. If one burns one n°t> comprised of both
Wxw and 1131 he is liable, even though the yin by itself is
nota .

The Gemara points out
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This is in the accordance with the opinion of 315X 2.
The Pasuk says;
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And the Xn72 derives from here
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There is a 17o°R to burn a 15 of XY, even if it is not the
complete ymip. According to 725K *27 this is learned from
the extra word 53, and so the superfluous phrase 33
teaches us

NORS GIORND 7

The 1329, however, 52 w77 857, do not view the word 52’ as
extra, and so they learn the 17o°) of y»p *3n from the
phrase 533, and therefore they do not have a source for
TNORS JIOID 7
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If one burns one 1’172 comprised of
both MINW and NNV heis liable
even though the YN by itselfis nota MTD
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Do not view the word “52” as extra
and so they learn the DN of YD) XN
from the phrase *52 1"

They do not have a source for ND'R5 NOLXRD NN
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The Gemara asks,
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We should learn from the word %3 in the Pasuk

19IRN KD N¥HOAN 5

NORY 90D I regarding yon MoK as well?

The Gemara answers
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Indeed this is the Halachah; and the reason *vt spoke
specifically of the oK of 10PN 521 MRW was
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To refute the opinion of »aX who says that one is liable for
burning less than a n13; Since, *1v1 says that the 977 can
contribute to the n"t>;
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He clearly requires a full mt.

So, we have three o710’ to which the principle of 9n°i
NORY 03D applies:
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The Gemara now quotes a X172 that seems to indicate
that we apply the principle of Wo°R5 q708n In regarding
other oo°x as well:

1IN 5w nopni
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A cooked cereal made from grains of im0 that was
flavored with garlic and oil of 5;
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If a oy )10 touches part of it, the entire portion may not be
eaten, because it's considered one entity of 1519, since the
majority of it is mIn.

However, in the reverse case;
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A cereal of poin that was flavored with garlic and oil of
mIn;
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Only the part that was touched by the o 9120 is S109.
Now, 2 11, the question was raised,
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Why doesn’t the garlic and oil of 1190 become nullified
in the majority of P>in? After all, as mooin explains,
202902 TN ROTIRTHD

1m7n becomes nullified in a majority of p»n according to
the Torah.
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The requirement of a 100:1 ratio to nullify nman, is only
1329717

And pny 7 answered this question,
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Since the 170 retains its status regarding the "o'R to be
eaten by a non-Kohein; therefore, as w1 explains,
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It also retains its status somewhat regarding nman; and yet
1919 D109°% 7IRY AN RYOA RS

It is treated more leniently than real 75170, and only the
part actually touched becomes H109.

Now, since the nm1n is only a small percentage of the
mixture, the Gemara assumes that the only way to be 27n
mp5n for eating a full 1o is if MORS 99030 ; thus
demonstrating that this principle IS applied universally?
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Cereal made from
grains of npNN
flavored with garlic
and oil of pbin

Cereal made from
grains of pbin
flavored with garlic
and oil of npNN
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Since the nonn retains its status regarding
the 2>°N to be eaten by a non-Kohein
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Now, since the nno1n is only a small part of the mixture,
the Gemara assumes that the only way
to be mpbn n for eating a full m15 is if
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thus demonstrating that this principle
is applied universally?
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The Gemara answers
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There is enough 770 in the mixture that he can manage
to eat a full n°1> of the nmn itself within ©39 n5OX 7, the
amount of time it takes to eat half a standard loaf of wheat
bread.

And the Gemara confirms
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This principle is indeed 70 11> that one is liable for
eating a n°t> of Wo°R during this time period.

7R questions this principle from three sources:

First,
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Why would the 13271 hold that there is no mpbn for eating
the nm> dip, which clearly contains a 13 of yn within
each v1o of dip?

M7 27 answers
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It is not normally eaten straight - and if he does, he would
not be liable for eating a 13 in this manner, because his
behavior is considered an aberration and one is not 217 for
abnormal eating.
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And when eaten slowly as a dip one does not consume a
1) in this time frame.

»aR continues to cite two NMn>71 that seem to indicate that
one is NOT liable for eating a ©19 nOR "7 0 178o:
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Two mortars, one containing 7m0 and the other Pom;
mYIR W 19N
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And nmn fell into one these two containers, and P21 into
the other;
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We assume that the 170 fell into the 751710 of 5190, and
everything remains status quo.

Similarly,
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If mn and P90 get mixed into baskets of i and pon,
we say IR INY, and assume that the nm7n ended up in
the basket of im1n.
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In these cases, the potential problem is that one would eat
aMIXTURE of 7 and poin.
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If the issue is a Rn»WRT, how can we assume that
everything worked out in a lenient way?

The Gemara answers
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Only wyvm 17, grains and wine, are 20 in 707 1 70;
similarly
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The xna regarding the two baskets was discussing

i 12 N, which is only 13297
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The o»on were lenient regarding }3277 17N,
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